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| migE |MAE| &5 | KE | BAH) k= migg  |MAE| £S5 | BE | @HAH) &5
4 i3 3 913| 366,300 XHE i3 2 723| 639,100
B k3 4 597 122,100 Rt i3 2 801 881,100
Es k3 5 611 137,500 s i3 2 815 694,100
4 i3 4 781 332,200 XHE i3 2 818| 894,300
B k3 5 817 271,700 Rt i3 2 826 861,300
EES k3 5 885 386,100 s i3 2 854 916,300
2.4 i 5 890| 380,600
E k3 5 905[ 356,400
L4 i 8 825| 309,100 [ YOGS
T
L4 i 9 658| 158,400 migd  |MAE| 5 | BE | @A) &5
A i3 9 761) 225,500 e i3 4 527| 580,800 |#FiR4E
4 i3 8 563| 515,900 |3EiR4S
e It 9 651| 496,100 |3FiR4
e i3 9 432| 245,300
X BELTOIREITIFTERILISFTT. 4 53 12| 437| 205,700
X EFEHERERTLTNVET, neE i 12 529| 431,200 |[4FiRS
4 lic3 13 427| 195,800
o4 It 14 499 228,800




